FAGOR 3

FRENTE MOSTRADORES CONCEPT/ FRONT COUNTER CONCEPT
3 CEFMP-150 19029427 / CFMP-150 PC 19029

@ CFMP-202 19029429 / CFMP-202 PC 19029

3 CEMP-255 19029430 / CFMP-255 PC 19029

CEMP-307 19029434 /

Version 2014-10




FAGOR 3

FRENTE MOSTRADOR CONCEPT / FRONT COUNTER CONCEPT
3 CFMP-117-R 19029438 / CFMP-117-R PC 19

Version 2014-10

& CFMP-169-R 19029440 / CFMP-169-R PC 19
& CFMP-222-R 19029441/ CFMP-222-R PC 19




FRENTE MOSTRADOR CONCEPT/ FRONT COUNTER CONCEPT

CEMP-150 19029427 / CFMP-150 F / CEMP
I

3 CEMP-202 19029429 / CEMP-202 F /| CEMP

@ CFMP-255 19029430 / CFMP-255 F / CEMP
I

?CFMP-SO? 19029434 /| CEMP-307 F / CEMP

CODE
CODIGO

RECOM.

1 12037489
2 12037989
3 12037891
4 12038191
4 12038193
4 12026967
4 12026912
5 12074344
5 12074345
5 12074346
6 12036012
8 12079633
8 12079634
8 12079635
8 12085756
9 12033566
10 12047112
11 12035142
12 12037723
13 12038130
14 12036986
15 12037138
16 12050272
17 12033966
17 12033254
17 12035853
17 12034882
20 12111273
21 12074402
22 12037372

DESCRIPCION

DESAG COMPL 3/4 GRIS+TUERCA
TAPON DESAGUE DE 3/4 CIEGO
JUNTA GOMA DESAGUE 3/4
ENCIM.MSP-150 PETO
ENCIM.MSP-200 PETO
ENCIM.MSP-250 PETO
ENCIM.MSP-300 PETO
PROT.TRAS.ENC.MSP-150
PROT.TRAS.ENC.MSP-200

SUP. PROT. TRAS. ENC. MSP
JUEGO TAPETAS ENCIM.ZAMAK
ENC.MSP-150 FREG.PETO
ENCIM.MSP-200 FREG PETO
ENCIM.MSP-250 FREG PETO
ENCIM.MSP-300 FREG PETO

PATA REGULAB ARM GASTRO

PUE FMP AP. IZDA CONCEPT
BURLETE PUERTA FMP

CAJA ALOJAMIENTO MUELLE GRIS
BIS.TRS1D DOBL MUELLE DV-2608
SOP.BISAG.INF.IZD.

EJE ROSCA EXT.30X10INOX MESAS
TUERC.RAPIDA TRT M6-2
SOPOR.SUP.PUERTAS MSP-150
SOP.SUP.PUER.MSP20-25-30
SOP.SUP.PUERT.MSP-250
SOPORT.SUP.PUERTAS MSP-300
REJILLA GRUPO FMP FAGOR CONCEPT
PROTECCION POWER COMPACT MESAS
SOPORTE ZAMAK GIRO REJILLA

DESCRIPTION

COMPLETE DRAINAGE 3/4 GREY + NUT

3/4 BLIND LIP DRAINAGE

3/4 DRAINAGE JOINT RUBBER

MSP-150 TOP WITH SPLASH BACK

MSP-200 TOP WITH SPLASH BACK

MSP-250 TOP WITH SPLASH BACK

MSP-300 TOP WITH SPLASH BACK

MSP-150 TOP BACK PROTECTOR

MSP-200 TOP BACK PROTECTOR

MSP TOP BACK UPPER PROTECTOR

TOP ZAMAK SET

MSP-150 TOP WITH SINK & SPLASH BACK
MSP-200 TOP WITH SINK & SPLASH BACK
MSP-250 TOP WITH SINK & SPLASH BACK
MSP-300 TOP WITH SINK & SPLASH BACK
GASTRO CABINET ADJUSTABLE LEG
CONCEPT LEFT OPEN FMP DOOR

FMP GASKET DOOR

GREY SPRING HOUSING BOX

DOUBLE SPRING HINGE TRS1D DV-2608
LEFT LOW HINGE SUPPORT

COUNTERS EXTERIOR THREAD AXIS 30X10STAINLESS
FAST NUT TRT M6-2

MSP-150 DOOR UPPER SUPPORT
MSP20-25-30 DOOR UPPER SUPPORT
MSP-250 DOOR UPPER SUPPORT

MSP-300 DOOR UPPER SUPPORT

FAGOR CONCEPT FMP COUNTERS CONTROL PANEL
COUNTERS POWER COMPACT PROTECTOR
CONTROL PANEL ZAMAK SUPPORT

CFMP-150

B

P W w NN DNDNDDN D

Version 2014-10

CFMP-202

[y

A A W W W W WD

CFMP-255

[y

aa o A b B DB O

[y

CFMP-307

[y

o o g o o g g o

[ S =

CFMP-150 F

[y

P W w NN NN D

CFMP-202 F

[y

A A W W W W WD

CFMP-255 F

[y

aa o A b B DB O

[y

CFMP-307 F

[y

o o g o g g g o -

[ R S

P PP P

P W w NN DNDNDDN D

CFMP-150 TV

[y

A A W W W W WD

CFMP-202 TV

[y

aa o A b B DB O

[y

CFMP-255 TV

CFMP-307 TV

[y

o o g o o g g o

[ =R S




23
24
26
30
30
30
31
31
32
33
34
35
36
40
40
41
41
42
43
44
45
46
a7
50
51
51
60
61
62
70
70
71
71
71
82
83
84
85
86
91
92
95
96

12045530
12104752
12043611
12048631
12028976
12046754
12032903
12032340
12033477
12037369
12036970
12072918
12036623
12030989
12079625
12041888
12049149
12040457
12034663
12034545
12074526
12074525
12037375
12037728
12034975
12034847
12036793
12036805
12073795
12033454
12040120
12019535
12034947
12036939
12050289
12085326
12074481
12088329
12074234
12036688
12035026
12074483
12088333

SONDA TERMOSTATO

ADHESIVO G. CONCEPT PWC
TERMOSTATO POWER COMPAC REFRIG
COMPR.FR-7,5-G R134A
COMPR.FR-8.5-G R134A
COMP.NEK6210Z EMBRACO
CONDENSADOR 9x2

CONDENSADOR 9x3 FAGC0021
VENTILADOR 10W PATA PALA 220V
VALVULA OBUS COMPLETA RF.HB-1S
FILTRO DESHIDRAT.40GR 1/4X1/4
EVAP.AUT.MESAS CONCEPT

BANDEJA EVAPORACION AUTOMATICA
UD.EV.MSP150,200,135,180 COMP.
UD.EV. MSP250,300,225,270 COMP
BAT.5T4R300A4S PINT.MESAS

BAT 6T4R300A4S PINT.MESAS
SUJ.VENTIL.MSP-150,200 COMPACT
REJILLA VENT.D.246 PINTADA
VENTIL.EVAPOR.5W S/ARO S/PATAS
SOP.EVAP.MESAS EVAP.COMPACTO
CUBRER.BAT.6T4R300A6S EVAP.COM
CANALIZAD.AGUA 150 GRIS REFRIG
SOPORT.PARRILA 3NIVELES
PARRIL.405X460 EXTREM.MSP

PARRIL 405X525 CENTRO MSP
REJ.RESP.GRUPO 387X280POLICARB
MANG 3X1X2500 BL. SCHUKO 3T
PROT SONDA 175x49
CONDEN.ARRANQUE FR-117U5015 80 mF
CONDENSADOR COMP. NEK 6210Z
RELE ARRANQ COMPR.FR-7.5G 6001
RELE ARRANQUE COMPRESOR FR-8,5G 2
RELE ARRAN. COMP. NEK 6210Z

GUIA BOLAS CJ REF. SUP 27 (JUEGO)
ESTRUCTURA MARCO CAJON FMP V.3
SOPORTE REGULACION CAJON FMP V.1
CJT.FRENTE CJ.FMP CONCEPT V.1
CUERPO CAJ.SOBREG.FMP V.3

PALO GOLPEADOR 378X30 MM

GOMA RYLKHOR D.30 MM GOLPEADO
BANDEJA TOLVA FMP V,1
CJT.ESTRUCT.CUERPO TOLVAYV,1

THERMOSTAT PROBE

PWC CONCEPT RANGE STICKER
REFRIGERATION POWER COMPACT THERMOSTAT
COMPR.FR-7,5-G R134A

COMPR.FR-8.5-G R134A

COMP.NEK6210Z EMBRACO

9X2 CONDENSER

FAGC0021 9X3 CONDENSER

10W 220V MOTOR WITH LEG AND FAN

OBUS VALVE RF.HB-1S

DEHYDRATOR FILTER 40G 1/4X1/4

CONCEPT COUNTER AUTOMATIC EVAPORATION
AUTOMATIC EVAPORATION PAN
MSP150,200,135,180 EVAPORATION UNIT
MSP250,300,225,270 EVAPORATION UNIT
COUNTERS PAINTED 5T4R300A4S EVAPORATOR
COUNTERS PAINTED 6T4R300A4S EVAPORATOR
COMPACT MSP-150,200 FAN SUPPORT

PAINTED D246MM FAN GRID

5W EVAPORATOR FAN MOTOR WO RING WO LEGS
COUNTERS COMPACT EVAPORATOR SUPPORT
6T4R300A6S COMPACT EVAPORATOR COVER
REFRIGERATION GREY 150 WATER DRAINAGE

3 LEVELS GRILL SUPPORT

MSP 405X460 SIDE GRILL

MSP 405X525 MIDDLE GRILL

POLICARBONATE 387X280 COLD UNIT BACK GRID
3X1X2500 WHITE SCHUKO 3T HOSE

175X49 PROBE PROTECTOR

FR-117U50515 80 Mf START CAPACITOR

NEK 6210Z COMPRESSOR CONDENSER
COMPRESSOR-7.5G 6001 STARTER RELAY
COMPRESSOR-8.5G 2 STARTER RELAY
COMPRESSOR NEK 6210Z STARTER RELAY

CJ BALL GUIDE REF. SUP 27 (GAME)

FRAME STRUCTURE CAJON FMP V.3

DRAWER STAND ADJUSTMENT FMP V.1
CJT.FRONT CJ.FMP CONCEPT V.1

BODY CAJ.SOBREG.FMP V.3

RAPPER 378X30 MM

D.30 MM RUBBER RYLKHOR BEATEN

BIN HOPPER FMP V 1

HOPPER CJT.ESTRUCT.CUERPO V 1

N N S ==

N O R R R R R R

[ = RS

R R R R e

N N N

[ N = = T

B R R R RN

R R R R e

e N

e e Y

B R R NN

e N

e N

e e N

B PR W N

e N

N N S ===

N O R R R R R R

[ SN

R R R R e

N N

e N =

N Y= Y

R R R R e

[ N S = =

N e Y

B R RN

e = = T

N N =

e e N

B PR W N

T S = = S =

N O R R R R R R e N ) S =TS

[ SN

S

e N

N N =

e = B V)

S

e =

e N

B R R NN

S

e N = T

e e N

B PR ow N

L




FRENTE MOSTRADOR CONCEPT / FRONT COUNTER CONCEPT

& CFMP-150 PC 19029444 /

& CFMP-202 PC 19029446 /

@ CFMP-255 PC 19029448 /

CODE

CcODIGO

1 12037489
2 12037989
3 12037891
4 12038191
4 12038193
4 12026967
5 12074344
5 12074345
5 12074346
6 12036012
9 12033566
11 12035142
12 12037723
13 12038130
14 12036986
15 12037138
16 12050272
17 12033966
17 12033254
17 12035853
20 12111098
21 12074402
22 12037372
23 12045530
24 12104752
26 12043611
30 12048631
30 12028976
30 12046754
31 12032903
31 12032340
32 12033477
33 12037369
34 12036970
35 12072918
36 12036623
40 12030989
40 12079625
41 12041888
41 12049149
42 12040457
43 12034663
44 12034545
45 12074526
46 12074525
47 12037375
50 12037728
51 12034975
51 12034847
60 12036793
61 12036805
62 12073795
63 12068289
64 12046299
65 12117149
66 12103609
70 12033454
70 12040120
71 12019535
71 12034947
71 12036939
82 12050289

DESCRIPCION

DESAG COMPL 3/4 GRIS+TUERCA
TAPON DESAGUE DE 3/4 CIEGO

JUNTA GOMA DESAGUE 3/4
ENCIM.MSP-150 PETO

ENCIM.MSP-200 PETO
ENCIM.MSP-250 PETO
PROT.TRAS.ENC.MSP-150
PROT.TRAS.ENC.MSP-200

SUP. PROT. TRAS. ENC. MSP

JUEGO TAPETAS ENCIM.ZAMAK

PATA REGULAB ARM GASTRO

BURLETE PUERTA FMP

CAJA ALOJAMIENTO MUELLE GRIS
BIS.TRS1D DOBL MUELLE DV-2608
SOP.BISAG.INF.1ZD.

EJE ROSCA EXT.30X10INOX MESAS
TUERC.RAPIDA TRT M6-2
SOPOR.SUP.PUERTAS MSP-150
SOP.SUP.PUER.MSP20-25-30
SOP.SUP.PUERT.MSP-250

REJILLA GRUPO MESAS FAGOR CONCEPT
PROTECCION POWER COMPACT MESAS
SOPORTE ZAMAK GIRO REJILLA

SONDA TERMOSTATO

ADHESIVO G. CONCEPT PWC
TERMOSTATO POWER COMPAC REFRIG
COMPR.FR-7,5-G R134A
COMPR.FR-8.5-G R134A
COMP.NEK6210Z EMBRACO
CONDENSADOR 9x2
CONDENSADOR 9x3 FAGC0021
VENTILADOR 10W PATA PALA 220V
VALVULA OBUS COMPLETA RF.HB-1S
FILTRO DESHIDRAT.40GR 1/4X1/4
EVAP.AUT.MESAS CONCEPT

BANDEJA EVAPORACION AUTOMATICA
UD.EV.MSP150,200,135,180 COMP.
UD.EV. MSP250,300,225,270 COMP
BAT.5T4R300A4S PINT.MESAS

BAT 6T4R300A4S PINT.MESAS
SUJ.VENTIL.MSP-150,200 COMPACT
REJILLA VENT.D.246 PINTADA
VENTIL.EVAPOR.5W S/ARO S/PATAS
SOP.EVAP.MESAS EVAP.COMPACTO
CUBRER.BAT.6T4R300A6S EVAP.COM
CANALIZAD.AGUA 150 GRIS REFRIG
SOPORT.PARRILA 3NIVELES
PARRIL.405X460 EXTREM.MSP

PARRIL 405X525 CENTRO MSP
REJ.RESP.GRUPO 387X280POLICARB
MANG 3X1X2500 BL. SCHUKO 3T

PROT SONDA 175x49

TIRADOR PUERTA CRISTAL

PUERTA CRISTAL FMP AP 1ZQD

TIRA LED T3-270-3014-868.16-CW24V DC 2mt
FUENT APV-16-24 115-230 50/60Hz 24V 16W
CONDEN.ARRANQUE FR-117U5015 80 mF
CONDENSADOR COMP. NEK 6210Z
RELE ARRANQ COMPR.FR-7.5G 6001
RELE ARRANQUE COMPRESOR FR-8,5G 2
RELE ARRAN. COMP. NEK 6210Z

GUIA BOLAS CJ REF. SUP 27 (JUEGO)

DESCRIPTION

COMPLETE DRAINAGE 3/4 GREY + NUT
3/4 BLIND LIP DRAINAGE

3/4 DRAINAGE JOINT RUBBER

MSP-150 TOP WITH SPLASH BACK
MSP-200 TOP WITH SPLASH BACK
MSP-250 TOP WITH SPLASH BACK
MSP-150 TOP BACK PROTECTOR
MSP-200 TOP BACK PROTECTOR

MSP TOP BACK UPPER PROTECTOR
TOP ZAMAK SET

GASTRO CABINET ADJUSTABLE LEG
FMP GASKET DOOR

GREY SPRING HOUSING BOX

DOUBLE SPRING HINGE TRS1D DV-2608
LEFT LOW HINGE SUPPORT
COUNTERS EXTERIOR THREAD AXIS 30X10STAINLESS
FAST NUT TRT M6-2

MSP-150 DOOR UPPER SUPPORT
MSP20-25-30 DOOR UPPER SUPPORT
MSP-250 DOOR UPPER SUPPORT

FAGOR CONCEPT FMP COUNTERS CONTROL PANEL

COUNTERS POWER COMPACT PROTECTOR
CONTROL PANEL ZAMAK SUPPORT
THERMOSTAT PROBE

PWC CONCEPT RANGE STICKER
REFRIGERATION POWER COMPACT THERMOSTAT
COMPR.FR-7,5-G R134A

COMPR.FR-8.5-G R134A

COMP.NEK6210Z EMBRACO

9X2 CONDENSER

FAGC0021 9X3 CONDENSER

10W 220V MOTOR WITH LEG AND FAN

OBUS VALVE RF.HB-1S
DEHYDRATOR FILTER 40G 1/4X1/4

CONCEPT COUNTER AUTOMATIC EVAPORATION
AUTOMATIC EVAPORATION PAN
MSP150,200,135,180 EVAPORATION UNIT
MSP250,300,225,270 EVAPORATION UNIT
COUNTERS PAINTED 5T4R300A4S EVAPORATOR
COUNTERS PAINTED 6T4R300A4S EVAPORATOR
COMPACT MSP-150,200 FAN SUPPORT

PAINTED D246MM FAN GRID

5W EVAPORATOR FAN MOTOR WO RING WO LEGS
COUNTERS COMPACT EVAPORATOR SUPPORT
6T4R300A6S COMPACT EVAPORATOR COVER
REFRIGERATION GREY 150 WATER DRAINAGE

3 LEVELS GRILL SUPPORT

MSP 405X460 SIDE GRILL

MSP 405X525 MIDDLE GRILL
POLICARBONATE 387X280 COLD UNIT BACK GRID
3X1X2500 WHITE SCHUKO 3T HOSE

175X49 PROBE PROTECTOR

GLASS DOOR HANDLE

GLASS DOOR FMP AP 1ZQD
T3-270-3014-868.16-CW24V DC 2mt LED STRIP
APV-16-24 115-230 50/60Hz 24V 16W SOURCE
FR-117U50515 80 Mf START CAPACITOR
NEK 6210Z COMPRESSOR CONDENSER
COMPRESSOR-7.5G 6001 STARTER RELAY
COMPRESSOR-8.5G 2 STARTER RELAY
COMPRESSOR NEK 6210Z STARTER RELAY

CJ BALL GUIDE REF. SUP 27 (GAME)

FAGOR 9

Version 2014-10

[ = =)

P W W NN NN S

T = T = W ==

N ® R R R R R R

P R, N NN R R R

CFMP-150 PC

CFMP-200 PC

N N L e = == A DN W OW W W N R

=
N

PR W W W R R R RN

CFMP-250 PC

a a b~ A DN DN O P PP

L = T = TS S o

N - )

SH-rEBH-EH- B

P A DN A P P P NN




83
84
85
86

12085326
12074481
12088329
12074234

ESTRUCTURA MARCO CAJON FMP V.3
SOPORTE REGULACION CAJON FMP V.1
CJT.FRENTE CJ.FMP CONCEPT V.1
CUERPO CAJ.SOBREG.FMP V.3

FRAME STRUCTURE CAJON FMP V.3
DRAWER STAND ADJUSTMENT FMP V.1
CJT.FRONT CJ.FMP CONCEPT V.1
BODY CAJ.SOBREG.FMP V.3

[ = =)

A

[ ==



FRENTE MOSTRADOR CONCEPT / FRONT COUNTER CONCEPT

& CFMP-117-R 19029438 / CFMP-117-R PC 190z
& CFMP-169-R 19029440 / CFMP-169-R PC 190
@ CFMP-222-R 19029441 / CFMP-222-R PC 190z

CODE
CODIGO

1 12037489
2 12037989
3 12037891
4 12028326
4 12027889
4 12027039
5 12074346
5 12074348
5 12074349
6 12036012
9 12033566
10 12047112
1 12035142
12 12037723
13 12038130
14 12036986
15 12037138
16 12050272
17 12034827
17 12033641
17 12035903
20 12073564
23 12045530
24 12113735
25 12047553
26 12084202
27 12047554
40 12045486
40 12085357
41 12041888
41 12049149
42 12040457
43 12034663
44 12034545
45 12074526
46 12074525
47 12037375
50 12037728
51 12034975
51 12034847
61 12036805
62 12073795
63 12068289
64 12046299
65 12117149
66 12103609

DESCRIPCION

DESAG COMPL 3/4 GRIS+TUERCA
TAPON DESAGUE DE 3/4 CIEGO
JUNTA GOMA DESAGUE 3/4
ENCIM.MSP-117-R C/PETO
ENCIM.MSP-169-R C/PETO
ENCIM.MSP-222-R C/PETO

SUP. PROT. TRAS. ENC. MSP
PROT.TRAS.ENC.MSP-117
PROT.TRAS.ENC.MSP-169

JUEGO TAPETAS ENCIM.ZAMAK
PATA REGULAB ARM GASTRO

PUE FMP AP. IZDA CONCEPT
BURLETE PUERTA FMP

CAJA ALOJAMIENTO MUELLE GRIS
BIS.TRS1D DOBL MUELLE DV-2608
SOP.BISAG.INF.IZD.

EJE ROSCA EXT.30X10INOX MESAS
TUERC.RAPIDA TRT M6-2
SOP.SUP.PUERTAS MSP-117-R
SOP.SUP.PUERTAS MSP-169-R
SOPORT.SUP.PUER.MSP-222-R
CUADRO MANDOS REMOTO CONCEPT
SONDA TERMOSTATO

ADHESIVO G. CONCEPT REMOTA

INT. BIP. O/I NEGRO/ROJO
CONJ.TERM.REFR.220V50HZ+1 SOND
PILOTO RECTANGULAR ROJO LUZ
UD.EV. MSP-117,102,169-R COMP.
EV.MSP-222,274

BAT.5T4R300A4S PINT.MESAS

BAT 6T4R300A4S PINT.MESAS
SUJ.VENTIL.MSP-150,200 COMPACT
REJILLA VENT.D.246 PINTADA
VENTIL.EVAPOR.5W S/ARO S/PATAS
SOP.EVAP.MESAS EVAP.COMPACTO
CUBRER.BAT.6T4R300A6S EVAP.COM
CANALIZAD.AGUA 150 GRIS REFRIG
SOPORT.PARRILA 3NIVELES
PARRIL.405X460 EXTREM.MSP

PARRIL 405X525 CENTRO MSP

MANG 3X1X2500 BL. SCHUKO 3T
PROT SONDA 175x49

TIRADOR PUERTA CRISTAL

PUERTA CRISTAL FMP AP 1ZQD

TIRA LED T3-270-3014-868.16-CW24V DC 2mt
FUENT APV-16-24 115-230 50/60Hz 24V 16W

FAGOR 3

Versién 2014-10

DESCRIPTION

COMPLETE DRAINAGE 3/4 GREY + NUT

3/4 BLIND LIP DRAINAGE

3/4 DRAINAGE JOINT RUBBER

MSP-117 TOP WITH SPLASH BACK

MSP-169 TOP WITH SPLASH BACK

MSP-222 TOP WITH SPLASH BACK

MSP TOP BACK UPPER PROTECTOR

MSP-117 TOP BACK PROTECTOR

MSP-169 TOP BACK PROTECTOR

TOP ZAMAK SET

GASTRO CABINET ADJUSTABLE LEG

CONCEPT LEFT OPEN FMP DOOR

FMP GASKET DOOR

GREY SPRING HOUSING BOX

DOUBLE SPRING HINGE TRS1D DV-2608

LEFT LOW HINGE SUPPORT

COUNTERS EXTERIOR THREAD AXIS 30X10STAINLESS
FAST NUT TRT M6-2

MSP-117 DOOR UPPER SUPPORT

MSP-169 DOOR UPPER SUPPORT

MSP-222 DOOR UPPER SUPPORT

REMOTE CONCEPT CONTROL PANLE
THERMOSTAT PROBE

REMOTE CONCEPT STICKER

O/l BLACK/RED BIPOLAR SWITCH
REFRIGERATION THERMOSTAT SET 220V50HZ + 1 PROBE
SQUARED RED LIGHT SWITCH
MSP-117,102,169-R EVAPORATOR UNIT
MSP-222,274 EVAPORATOR

COUNTERS PAINTED 5T4R300A4S EVAPORATOR
COUNTERS PAINTED 6T4R300A4S EVAPORATOR
COMPACT MSP-150,200 FAN SUPPORT

PAINTED D246MM FAN GRID

5W EVAPORATOR FAN MOTOR WO RING WO LEGS
COUNTERS COMPACT EVAPORATOR SUPPORT
6T4R300A6S COMPACT EVAPORATOR COVER
REFRIGERATION GREY 150 WATER DRAINAGE

3 LEVELS GRILL SUPPORT

MSP 405X460 SIDE GRILL

MSP 405X525 MIDDLE GRILL

3X1X2500 WHITE SCHUKO 3T HOSE

175X49 PROBE PROTECTOR

GLASS DOOR HANDLE

GLASS DOOR FMP AP 1ZQD
T3-270-3014-868.16-CW24V DC 2mt LED STRIP
APV-16-24 115-230 50/60Hz 24V 16W SOURCE

[ S =

P W W NN DN DNDNDN SR

I N = N = S S S

=
~
—
i
o
=
LL
O]

N 00 R R R R

=

CFMP-169-R

I e N = = AN W OW W W WA R e

(B SN

12 16

(B SN

o g A M MM DN O R PR

L e = S =

CFMP-222-R

[ S S S =Y

R P NN

N

TGN

P W w NN NN

I e e = =

R NN NN

CFMP-117-R PC

N 00 P R R

[uny

AR W W W W N
CFMP-169-R PC

e =

R R RN [ S S S =Y

= W w w

CFMP-222-R PC

(0]

N IS TS; T NS NS NN
e N Y

R P, NN

[~





